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1. How many people can be in a partnership? _____________________(1)

2. [image: ]






3. Give an example of a partnership business _________________________(1)
[image: ]
4. 




5. Who can a private limited company ONLY sell shares to? 

_________________________________________________________________(1)

6. Give an example of a Franchise business __________________________(1)

7. Why is it a disadvantage to a sole trader of having unlimited liability? (2)
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9. Name one benefit to an entrepreneur of starting a business as a private limited company _____________________________________________________________________(1)
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11. How many owners are there in a sole trader business? 
_________________________________________(1)
12. Give an example of a sole trader business ___________________________________________(1)
13. [image: ]Score
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Which one of the following is a characteristic of a sole trader?

Select one answer.
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They require a business qualification
They have unlimited liability
They can sell shares to raise finance

They do not employ staff
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Which one of the following is a disadvantage of starting a partnership?

Select one answer.
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Business owners have different skills
Can be easier to raise finance
Business decisions affect all partners

Financial information is kept private
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Which two of the following are advantages for an entrepreneur of starting a
business as a sole trader?

Select two answers.

Limited liability means losses can be minimised

Owner has control of decision making

Break even level of output will be higher

Less risky than other types of business structure
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Any profits can be kept by the owner
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) Which one of the following is a benefit of starting a business as a franchise?

Select one answer.
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Lower variable costs
Support from the franchisor
Higher interest rates for borrowing

Franchisees pay lower tax
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Which one of the following statements about a franchise is correct?

Select one answer.
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A franchisee makes all their own decisions
The franchisor pays the franchisee to set up in business
The franchisor provides continued help and support

Franchises pay lower Value Added Tax than sole traders
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